BANK BRADESCO Form 6-K September 11, 2018

UNITED STATES SECURITIES AND EXCHANGE COMMISSION

Washington, D.C. 20549

FORM 6-K

REPORT OF FOREIGN PRIVATE ISSUER PURSUANT TO RULE 13a-16 OR 15d-16 UNDER THE SECURITIES EXCHANGE ACT OF 1934

For the month of September, 2018 Commission File Number 1-15250

BANCO BRADESCO S.A.

(Exact name of registrant as specified in its charter)

BANK BRADESCO

(Translation of Registrant's name into English)

Cidade de Deus, s/n, Vila Yara 06029-900 - Osasco - SP Federative Republic of Brazil (Address of principal executive office)

Indicate by check mark whether the registrant files or will file annual reports under cover Form 20-F or Form 40-F. Form 20-FX Form 40-F
Indicate by check mark whether the registrant by furnishing the information contained in this Form is also thereby furnishing the information to the Commission pursuant to Rule 12g3-2(b) under the Securities Exchange Act of 1934.
Yes NoX

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In August 2018 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Group and Family

(x) Controller's

Dependants

Openning Balance

		% of participation			
Type of Securities/Derivatives	Quantity	Same type of Shares	Total		
Common Shares	2,477,216,477	73.7282	36.8641		
Non-Voting Shares	75,799,591	2.2559	1.1279		
Clo	osing Balance				
		% of partic	ipation		
Type of Securities/Derivatives	Quantity	Same type of Shares	Total		
Common Shares Non-Voting Shares	2,477,216,477 75,799,591	73.7282 2.2559	36.8641 1.1279		

CONSOLIDATE FORM Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In August 2018 were done the following operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco B	radesco S.A.						
Family '	Board of Directors	` '	d of Executive Officers	ive () Audit Committee		Adv	nical and isory ncies
		Ope	nning Balance				
Туј	oe of Securitie	es/Derivatives	3	Quan	tity	% of par Same type of Shares	ticipation Total
	Common				,362,731	0.546	
	Non-Voting		ath Mayamant	33	,979,233	1.0113	0.5056
_ ,		IVIOI	nth Movement				
Type of Securities/Derivative	Broker s	Operation	on Day	Quantity	Price	Value	in R\$
Non-Voting Shares		Sell	3-Aug	27,300	32.01	R\$ 8	73,873.00
Non-Voting Shares		Sell	3-Aug	13,800	32.03		42,014.00
Non-Voting Shares		Sell	3-Aug	3,900	32.04	R\$ 1	24,956.00
Non-Voting Shares		Sell	3-Aug	17,600	32.05	R\$ 5	64,080.00
Non-Voting Shares	Bradesco	Sell	3-Aug	384	32.00	R\$	12,288.00
Non-Voting Shares	S.A. C.T.V.M.	Sell	3-Aug	3,100	32.01	R\$	99,231.00
Non-Voting Shares		Sell	6-Aug	92	31.91	R\$	2,935.72
Non-Voting Shares		Sell	6-Aug	1,600	31.93		51,088.00
Non-Voting Shares		Sell	6-Aug	2,400	31.94		76,656.00
Non-Voting Shares Non-Voting Shares		Sell Total	7-Aug	6,804 76,980	32.05		18,068.20 65,189.92
-		Clo	sing Balance				
_						% of par	ticipation

Type of Securities/Derivatives

Quantity

		Same	
		type of	Total
		Shares	
Common Shares	18,362,731	0.5465	0.2732
Non-Voting Shares	33,902,253	1.0090	0.5045

Company: Brac						
Group and Family Dependants	(x)Board of Directors	() Board of Executive Officers	() Audit Committee	() Technical a Advisory Agencies		ory
		Openning Balance				
	Type of Securitie	s/Derivatives	Quantity		% of partic Same type of	cipation Total
					Shares	
	Common Shares			0	0.0000	0.0000
	Non-Voting	Shares		0	0.0000	0.0000
		Closing Balance				
	Type of Securities	a/Dariyatiyaa	Quantity	,	% of partic Same	pation
Type of Securities		s/Denvatives	Quantity		type of Shares	Total
	Common S	Shares		0	0.0000	0.0000
	Non-Voting	Shares		0	0.0000	0.0000

CONSOLIDATE FORM Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In August 2018 were done the following operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Band	co Brad	desco S.A.							
Group and ()Board of Pamily Directors			(X) Board of Executive Officers		() Audit Committee		() Technical and Advisory Agencies		
			Openi	ning Balance					
			_				% of partic	ipation	
	Type	of Securitie	es/Derivatives		Quan	tity	Same type of Shares	Total	
		Common	Shares			59,898		0.0008	
		Non-Voting	•		2	,652,475	0.0789	0.0394	
			Mont	h Movement					
Type of Securities/Derive	atives	Broker	Operation	Day	Quantity	Price	Value ir	n R\$	
Non-Voting Shar	res		Sell	24-Aug	3,500	28.30	99,050	.00	
Non-Voting Shar	res		Sell	24-Aug	1,500	28.31	42,465	.00	
Non-Voting Shar	res		Sell		2,000	31.20	62,400	.00	
Non-Voting Shar	res		Sell		1,000	31.75	31,750	.00	
Non-Voting Shar	res		Sell	3-Aug	2,000	31.90	R\$ 63,800.00 R\$		
Non-Voting Shar	res		Sell	3-Aug	2,000	32.10	64,200	.00	
Non-Voting Shar	res		Sell	7-Aug	11,713	31.48	368,72	5.24	
Non-Voting Shar	res		Sell	3-Aug	20	32.12	642.4	10	
Non-Voting Shar	res		Sell	3-Aug	3,100	32.13	99,603 R\$.00	
Non-Voting Shar	res		Sell	3-Aug	3,400	32.14	109,276.00		
Non-Voting Shar	res		Sell		58 32.16		R\$ 1,865.28		

					R\$
Non-Voting Shares	Sell	7-Aug	2,900	32.10	93,090.00
Non-Voting Shares	Sell	7-Aug	3,800	32.11	R\$ 122,018.00
Non-Voting Shares	Sell	6-Aug	67	31.90	R\$ 2,137.30
Non-Voting Shares	Sell	6-Aug	25	31.91	R\$ 797.75
Non-Voting Shares	Sell	6-Aug	2,600	31.92	R\$ 82,992.00
Non-Voting Shares	Sell	8-Aug	18	31.56	R\$ 568.08
Non-Voting Shares	Sell	8-Aug	1,500	31.58	R\$ 47,370.00
Non-Voting Shares	Sell	8-Aug	900	31.59	R\$ 28,431.00
Non-Voting Shares	Sell	3-Aug	620	32.15	R\$ 19,933.00
Non-Voting Shares	Sell	7-Aug	92	31.77	R\$ 2,922.84
Non-Voting Shares	Sell	7-Aug	4,087	31.80	R\$ 129,966.60
Non-Voting Shares	Sell	3-Aug	69	31.14	R\$ 2,148.66
Non-Voting Shares	Sell	3-Aug	1,500	31.11	R\$ 46,665.00
Non-Voting Shares	Sell	6-Aug	1,843	31.96	R\$ 58,902.28
Non-Voting Shares	Sell	7-Aug	64	31.91	R\$ 2,042.24
Non-Voting Shares	Sell	7-Aug	1,700	31.93	R\$ 54,281.00
Non-Voting Shares	Sell	7-Aug	1,300	31.94	R\$ 41,522.00
Non-Voting Shares	Sell	3-Aug	7	31.71	R\$ 221.97
Non-Voting Shares	Sell	3-Aug	1,500	31.72	R\$ 47,580.00
Non-Voting Shares	Sell	6-Aug	69	31.80	R\$ 2,194.20
Non-Voting Shares	Sell	6-Aug	1,700	32.20	R\$ 54,740.00
Non-Voting Shares	Sell	7-Aug	42	32.00	R\$ 1,344.00
Non-Voting Shares	Sell	7-Aug	2,900	32.02	R\$ 92,858.00
Non-Voting Shares	Sell	22-Aug	20	28.64	R\$ 572.80
Non-Voting Shares	Sell	22-Aug	570	28.65	R\$ 16,330.50
Non-Voting Shares	Sell	22-Aug	100	28.66	,

					R\$
Non-Voting Shares	Sell	3-Aug	86	32.01	2,866.00 R\$ 2,752.86
Non-Voting Shares	Sell	3-Aug	400	32.03	R\$ 12,812.00
Non-Voting Shares	Sell	3-Aug	300	32.04	R\$ 9,612.00
Non-Voting Shares	Sell	6-Aug	924	31.83	R\$ 29,410.92
Non-Voting Shares	Sell	7-Aug	35	31.96	R\$ 1,118.60
Non-Voting Shares	Sell	7-Aug 7-Aug	1,500	31.99	R\$ 47,985.00
Non-Voting Shares	Sell	7-Aug 2-Aug	40	30.84	R\$ 1,233.60
Non-Voting Shares	Sell	2-Aug 2-Aug	200	30.88	1,233.00 R\$ 6,176.00
Non-Voting Shares	Sell	2-Aug	400	30.92	R\$ 12,368.00
Non-Voting Shares	Sell	2-Aug 3-Aug	39	31.95	12,308.00 R\$ 1,246.05
Non-Voting Shares	Sell	3-Aug	71	32.07	R\$ 2,276.97
Non-Voting Shares	Sell	3-Aug	1,100	31.97	R\$ 35,167.00
Non-Voting Shares	Sell	3-Aug	100	32.00	35,107.00 R\$ 3,200.00
Non-Voting Shares	Sell	3-Aug	6,600	32.08	R\$ 211,728.00
Non-Voting Shares	Sell	3-Aug	38	31.75	R\$ 1,206.50
Non-Voting Shares	Sell	3-Aug	100	31.29	R\$ 3,129.00
Non-Voting Shares	Sell	3-Aug	100	31.41	R\$ 3,141.00
Non-Voting Shares	Sell	3-Aug	100	31.70	R\$ 3,170.00
Non-Voting Shares	Sell	3-Aug	100	31.76	R\$ 3,176.00
Non-Voting Shares	Sell	3-Aug	100	31.79	R\$ 3,179.00
Non-Voting Shares	Sell	3-Aug	100	31.86	R\$ 3,186.00
Non-Voting Shares	Sell	3-Aug	100	31.92	R\$ 3,192.00
Non-Voting Shares	Sell	3-Aug	100	31.94	3,192.00 R\$ 3,194.00
Non-Voting Shares	Sell	3-Aug	100	31.98	3,194.00 R\$ 3,198.00
Non-Voting Shares	Sell	3-Aug 3-Aug	200	32.00	5,190.00

					R\$
					6,400.00 R\$
Non-Voting Shares	Sell	3-Aug	100	32.05	3,205.00
Non-Voting Shares	Sell	6-Aug	89	31.90	R\$ 2,839.10
Non-Voting Shares	Sell	6-Aug	100	31.86	R\$ 3,186.00
Non-Voting Shares	Sell	6-Aug	200	31.87	R\$ 6,374.00
Non-Voting Shares	Sell	6-Aug	100	31.89	R\$ 3,189.00
Non-Voting Shares	Sell	6-Aug	200	31.91	R\$ 6,382.00
Non-Voting Shares	Sell	6-Aug	100	31.93	R\$ 3,193.00
Non-Voting Shares	Sell	6-Aug	100	31.94	R\$ 3,194.00
Non-Voting Shares	Sell	6-Aug	100	31.99	R\$ 3,199.00
Non-Voting Shares	Sell	6-Aug	100	32.04	R\$ 3,204.00
Non-Voting Shares	Sell	6-Aug	100	32.06	R\$ 3,206.00
Non-Voting Shares	Sell	7-Aug	63	31.85	R\$ 2,006.55
Non-Voting Shares	Sell	7-Aug	3	31.88	R\$ 95.64
Non-Voting Shares	Sell	7-Aug	10	32.01	R\$ 320.10
Non-Voting Shares	Sell	7-Aug	300	31.78	R\$ 9,534.00
Non-Voting Shares	Sell	7-Aug	400	31.88	R\$ 12,752.00
Non-Voting Shares	Sell	7-Aug	200	31.89	R\$ 6,378.00
Non-Voting Shares	Sell	7-Aug	200	31.90	R\$ 6,380.00
Non-Voting Shares	Sell	7-Aug	200	31.94	R\$ 6,388.00
Non-Voting Shares	Sell	7-Aug	200	31.97	R\$ 6,394.00
Non-Voting Shares	Sell	7-Aug	100	31.98	R\$ 3,198.00
Non-Voting Shares	Sell	7-Aug	100	32.10	R\$ 3,210.00
Non-Voting Shares	Sell	7-Aug	200	32.11	R\$ 6,422.00
Non-Voting Shares	Sell	3-Aug	99	32.02	R\$ 3,169.98
Non-Voting Shares	Sell	3-Aug 3-Aug	600	32.06	5,105.50

					R\$
					19,236.00 R\$
Non-Voting Shares	Sell	13-Aug	35	28.92	1,012.20
Non-Voting Shares	Sell	13-Aug	600	28.96	R\$ 17,376.00
Non-Voting Shares	Sell	1-Aug	45	30.91	R\$ 1,390.95
Non-Voting Shares	Sell	1-Aug	600	30.92	R\$ 18,552.00
Non-Voting Shares	Sell	10-Aug	83	29.33	R\$ 2,434.39
Non-Voting Shares	Sell	10-Aug	500	29.37	R\$ 14,685.00
Non-Voting Shares	Sell	3-Aug	74	32.14	R\$ 2,378.36
Non-Voting Shares	Sell	3-Aug	800	32.17	R\$ 25,736.00
Non-Voting Shares	Sell	3-Aug	30	31.50	R\$ 945.00
Non-Voting Shares	Sell	3-Aug	600	31.54	R\$ 18,924.00
Non-Voting Shares	Sell	6-Aug	18	31.90	R\$ 574.20
Non-Voting Shares	Sell	6-Aug	5	31.91	R\$ 159.55
Non-Voting Shares	Sell	6-Aug	600	31.92	R\$ 19,152.00
Non-Voting Shares	Sell	2-Aug	600	30.71	R\$ 18,426.00
Non-Voting Shares	Sell	8-Aug	30	31.46	R\$ 943.80
Non-Voting Shares	Sell	8-Aug	400	31.48	R\$ 12,592.00
Non-Voting Shares	Sell	8-Aug	200	31.49	R\$ 6,298.00
Non-Voting Shares	Sell	1-Aug	9	31.01	R\$ 279.09
Non-Voting Shares	Sell	1-Aug	1,200	31.02	R\$ 37,224.00
Non-Voting Shares	Sell	6-Aug	85	31.80	R\$ 2,703.00
Non-Voting Shares	Sell	6-Aug	1	31.81	R\$ 31.81
Non-Voting Shares	Sell	6-Aug	24	31.89	R\$ 765.36
Non-Voting Shares	Sell	6-Aug	700	31.83	R\$ 22,281.00
Non-Voting Shares	Sell	6-Aug	500	31.90	R\$ 15,950.00
Non-Voting Shares	Sell	6-Aug	400	31.98	

					R\$ 12,792.00
Non-Voting Shares	Sell	7-Aug	35	31.87	R\$ 1,115.45
Non-Voting Shares	Sell	7-Aug	1,500	31.92	R\$ 47,880.00
Non-Voting Shares	Sell	14-Aug	700	30.00	R\$ 21,000.00
Non-Voting Shares	Sell	29-Aug	600	29.40	R\$ 17,640.00
Non-Voting Shares Total		Closing Balance	88,155		R\$ 2,779,427.17
Type of Securit	Quantit	у	% of participation Same type of Total Shares		

59,898

2,567,320

0.0017

0.0764

0.0008

0.0382

Note:

New member who belong to the Board of Executive Officers:

Common Shares

Non-Voting Shares

Júlio Cardoso Paixão Romero Gomes de Albuquerque Luís Francisco da Silva Júnior

CONSOLIDATE FORM

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In August 2018 were done the following operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: B	Banco Bra	idesco S.A.								
Group and Family Dependants	` '	of Directors	()B	Soard of Office	Executive ers	(X) Au Commi				eal and gencies
				Opennir	ng Balance					
				-	_			% of	partic	ipation
	Tyna	of Securities	/Derivat	tives		Quan	titv	Sam	е	
	Турс	or occurries.	Denva	11463		Quan	шу	type (Total
								Share		
		Common SI					2,897		000	0.0000
		Non-Voting S	Shares				180,304	0.00	053	0.0026
				Month I	Movement					
Type Securities/D		Broker	Оре	eration	Day	Quantity	Price	Va	ılue in	ı R\$
Non-Voting S	Shares	Bradesco	Sell		27-Aug	600	28.97	R\$	17,3	82.00
		S.A.								
Non-Voting	Shares	C.T.V.M.	Total	01	D 1	600		R\$	17,3	882.00
				Ciosin	g Balance			0/ -f	! _	
								% or Sam		ipation
Type of Securities/Derivatives				Quan	tity			Total		
•								type of Share		TOtal
		Common SI	nares				2,897		000	0.0000
		Non-Voting S					179,704		053	0.0026
rion-voling snates						,	0.0		3.00-0	

CONSOLIDATE FORM

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In August 2018 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.									
Group and Family Dependants	()Board of Directors	() Board of Executive Officers	() Audit Committee	(x)	(x) Technical and Advisory Agencies				
		Openning Bala	ance						
				% of participation					
Type of	Securities/Derivativ	es	Quantity		me type of Shares	Total			
Common Shares			0	0.0000	0.0000				
Non-Voting Shares			0	0.0000	0.0000				
Closing Balance									
		_		% of participation					
Type of	Securities/Derivativ	es	Quantity		me type of Shares	Total			
C	Common Shares			0	0.0000	0.0000			
Non-Voting Shares				0	0.0000	0.0000			

CONSOLIDATE FORM

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In August 2018 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

CPF/CNPJ:
Name: Banco Bradesco S.A. 60.746.948/0001-12

Qualification: Treasury

Openning Balance

% of participation

Type of Securities/Derivatives

Quantity

Same
type of Total

Shares

Common Shares 5,535,803 0.1647 0.0823

Non-Voting Shares 20,741,320 0.6173 0.3086

Closing Balance

% of participation

Type of Securities/Derivatives

Quantity

Same
type of Total

Shares

Common Shares 5,535,803 0.1647 0.0823

Non-Voting Shares 20,741,320 0.6173 0.3086

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In August 2018 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

CPF/CNPJ:

Name: 2bCapital Participações Ltda 11.814.208/0001-60

Qualification: Controlled / Related Company

Openning Balance

% of participation Same

Type of Securities/Derivatives

Quantity

Quantity

Same type of

type of Total Shares

 Common Shares
 0
 0.0000
 0.0000

 Non-Voting Shares
 0
 0.0000
 0.0000

Closing Balance

% of participation

Type of Securities/Derivatives Quantity

Same

type of Total

Shares

 Common Shares
 0 0.0000 0.0000

 Non-Voting Shares
 0 0.0000 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In August 2018 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

CPF/CNPJ: 07.063.675/0001-29

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives

Quantity

% of participation
Same
type of Total
Shares

 Common Shares
 0 0.0000 0.0000

 Non-Voting Shares
 0 0.0000 0.0000

Closing Balance

% of participation

Type of Securities/Derivatives

Quantity

Same type of

Shares O 0.0000 0.0000

Non-Voting Shares 0 0.0000 0.0000 0.0000

Total

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In August 2018 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

ADC Bradesco - Associação CPF/CNPJ:

Name: Desportiva Classista 51.244.101/0001-49

Qualification: Controlled / Related Company

Openning Balance

% of participation

Type of Securities/Derivatives

Quantity

Same
type of Total

Shares

Common Shares 0 0.0000 0.0000

Non-Voting Shares 0 0.0000 0.0000

Closing Balance

% of participation

Total

Type of Securities/Derivatives

Quantity

Same
Quantity

type of

Common Shares Shares 0 0.0000 0.0000

Non-Voting Shares 0 0.0000 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In August 2018 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Ágora Corretora de Títulos e CPF/CNPJ:

Name: Valores Mobiliários S.A 74.014.747/0001-35

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives

% of participation
Same
type of Total

Shares

 Common Shares
 0 0.0000 0.0000

 Non-Voting Shares
 0 0.0000 0.0000

Closing Balance

% of participation

Type of Securities/Derivatives Quantity

Same

type of Total

Shares

 Common Shares
 0 0.0000 0.0000

 Non-Voting Shares
 0 0.0000 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In August 2018 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Name: Ágora Educacional Ltda 09.544.124/0001-02

Qualification: Controlled / Related Company

Openning Balance

% of participation

Type of Securities/Derivatives

Quantity

type of Total

Shares 0 0.0000 0.0000

Non-Voting Shares 0 0.0000 0.0000 0.0000

Closing Balance

% of participation

CPF/CNPJ:

Type of Securities/Derivatives

Quantity

Same
type of Total

Shares

 Common Shares
 0 0.0000 0.0000

 Non-Voting Shares
 0 0.0000 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In August 2018 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Non-Voting Shares

Company: Banco Bradesco S.A.

		OI I / OI VI O.		
Name:	Aicaré Holdings Ltda	09.235.141/0001-68		

Qualification: Controlled / Related Company

Openning Balance				
opening - mines		% of participation		
Type of Securities/Derivatives	Quantity	Same		
Type of Securities/Derivatives	Quantity	type of	Total	
		Shares		
Common Shares	0	0.0000	0.0000	
Non-Voting Shares	0	0.0000	0.0000	
Closing Balance				
		% of participation		
Type of Securities/Derivatives	Quantity	Same		
Type of Securities/Derivatives	Quantity	type of	Total	
		Shares		
Common Shares	0	0.0000	0.0000	

CPF/CNP.I:

0 0.0000 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In August 2018 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Alvorada Administradora de CPF/CNPJ:

Name: Cartões Ltda 01.382.421/0001-97

Qualification: Controlled / Related Company

Openning Balance

% of participation

Type of Securities/Derivatives

Quantity

Same
type of Total

Shares

Common Shares 0 0.0000 0.0000

Non-Voting Shares 0 0.0000 0.0000

Closing Balance

% of participation

Total

Type of Securities/Derivatives

Quantity

Same
Quantity

type of Shares

Common Shares 0 0.0000 0.0000

Non-Voting Shares 0 0.0000 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In August 2018 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Name:

Alvorada Companhia

Securitizadora de Créditos CPF/CNPJ: Financeiros 03.572.412/0001-94

Qualification: Controlled / Related Company

Openning Balance

% of participation

Total

Total

Type of Securities/Derivatives

Quantity

Same

type of

Shares 0 0.0000 0.0000

Non-Voting Shares 0 0.0000 0.0000

Closing Balance

% of participation

Type of Securities/Derivatives

Same
Quantity

type of

Shares O 0.0000 0.0000

Non-Voting Shares 0 0.0000 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In August 2018 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11